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No Way tha 3 pessible f S operak ”"b n g and haw no dependenc on P

fooe 17 T sttady (T=T%) => A=A (o AA m Bt o) 5
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= {UTUx x> -<Kxx> =0 =S UU-Dx, x> =0 ¥x

To use pnb 13.220i), m et (UU-T) b be setf-ad i (uvu-1d°
= (wuY-T* = w'u-I
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To see this ZTv. w> 5 = Sym vlw, @
yWh2?” = v, Tw> = {v,Tw> = N, Wy = MLV, We> =0

Whet if Na=07 Mo pablom, thet
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DCF T is a Notmel Qf”“h 4 %7 :‘TT* Commaies with a-dd
W Tv=o <> TV =0  w showr LTy, Tv> = <%, T >
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=/¢L<V)W>
= X<V)W>'/u {yw» =0
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Them 13.16 Csm&cx Spectat Thm ormal Ofem 3 ON basis fr V CoaS&hU“‘
EVs of T
VYV £ dim vs owr C with imner pnd <) > = In thia busis,T i3 represatel
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Say N=5 amt N=H=Xs 2 hudnu> = %(J*"'*“'”“‘f"“’>'"“(‘“‘?>(’° ”*4":1) 3

Pw) -

D'P.*Pz +R =T because = ANRw 4 ‘)‘11{(,‘) + A €00 Te-indexing
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